SECONDARY SCHOOL EXAMINATION - 2024
A Thel UNIET — 2024

fawa &is - 110
Subject Code — 110 (ANNUAL/ Eﬂﬁw)
MATHEMATICS (COMPULSORY)
HINGRCIEEID)
& YTl DI AT : 100+30+8 = 138 qurid : 100
Total no. of Questions : 100+30+8 = 138 Full Marks : 100

ghenfefal & ferg 39T -

Instructions for the candidates :

1. 9 OMR SIR U306 WR YT U GRIBT HHidb (10 bl ®1) 3faey o |
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in
the OMR Answer Sheet.

2. oRIereft JUrEYT 31 wreat | & ST < |
Candidates are required to give their answers in own words as far as

practicable.

3. <t 3R BN R A g ofe gurie fAfde axd 7

Figures in the right hand margin indicate full marks.

4. U B AF Ydd Y @ fory 15 e @1 sifaRed wwa fear T 2

An extra time of 15 minutes has been allotted for the candidates to read

the questions carefully.

5. I8 U gRAPI T US| H © — @US—3l Ud WS4 |
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This question booklet is divided into two sections — Section-A and

Section-B.

Gus—31 H 100 RIS U &, R+ | {2l 50 UeHl &1 IR <1 Si+ard 7 |
T ¥ 3Af8e Ul d IR o W UUH 50 IIRI BN B oAb (AT ST |
Ud U & ol 1 3fd MiRT B | ¥8! IR Bl Iyl I T OMR IR
T | o T W8 fAbey &l o /Fral dicd U9 W WTe B | fhdl ¥ g
@ gAIgeR / RA U / =fs / ARgA e & OMR IR gRAad H
TART AT AT 2, AT YRIeAT YR M= 8T |

In Section=A, there are 100 objective type questions, out of which any 50

questions are.to be answered. First 50 answers will be evaluated in case
more than 50 questions are answered. Each question carries 1 mark.
For answering these darken the circle with blue / black ball pen against
the correct option on OMR Answer Sheet provided to you. Do not use
Whitener / liquid / blade / nail etc. on OMR-sheet, otherwise the result

will be treated invalid.

Gus—q H 30 oY SR U &, o 4 &=l 15 UeAl & IR <1 SIard
g UG U & oY 2 3 FEiRa 2| sa.offaRad, 39 @vs H 8 ™
ST U T N B, 98 o {2l 4 gel & QTR <1 8| IS U &
forg 5 3w MuiRa 2|

In Section-B, there are 30 short answer type questions, out of which any

15 questions are to be answered. Each question carries 2 marks. Apart
from these, there are 8 long answer type questions, out of which any 4

questions are to be answered. Each question carries 5 marks.
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8. fdll UBR & SolagiMeG UG HT FIRT guiaar affd 2|

Use of any electronic appliances is strictly prohibited.

fSgre i aiv sile yere siifbfdas
dAYe QUe, ATs AU, 3fide-bl,
UTSdh A, silea, Al ¢ee, Ae-3 3iie
o es Udtel usst U= 31fe & f3e...
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gvs — 3 / SECTION - A
g&g~e ue / Objective Type Questions

3T WRAT 1 ¥ 100 db & Y99 & 91 IR fddbey fou v € 5949 9 v ) 2| fhsi
50 Ul & IR 3T §RT g Y Fel f[ddhey dl OMR e W fifzd & |

50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the OMR-
sheet. 50x1=50

1.

2052 & 9SG UIFEUS H 3 Pl 10 FT © ?

(A) 2 (B)3

(C)4 (D)5

What is the power of 3 in the prime factorisation of 2052 ?
(A)2 (B)3

(C)4 (D)5

fFrefeRad # fdeT semed gaR |id T8 © 2

7 9
¥ )i

15 13
(C) 24 x 72 (D) 22 X 52

Which of the following is not a terminating decimal expansion ?

7 9
( )20X52 ( )24X53

15 13
(€) 57 () 755

JgUS X(2X — 5) - 3 F YIB! BT INT
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2 5

(A) 2 (B)-3

3 5

(C)-3 (D) 5
The sum of the zeros of the polynomial x(2x — 5) — 3 is

2 5

(A) 2 (B)-3

(C) -

N w

(D)

N0

e FHERT 2%° + px —3 =0 BT Y% A —3 & dT p BT A &
(A)3 (B) 4
(C)5 (D)6
If one root of the equation2x? + px — 3 = 0 is — 3 then the value of p is
(A)3 (B) 4
(C)5 (D)6
I 98U ax’ —bx +c @ IYF a, B B A . B HT A &
a a
(A) - (B)--
Cc Cc
(C)- (D) -~
If ¢, B be the zeros of the polynomial ax* — bx + ¢ then the value of a. 8 is
a a
A (B)-3
Cc c
(C)- (D) -~

f=ferRad & &9 w0 20 H 8 7
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(A)2,5,7, ... (B) 22, 32, 7%, ...
(C) x, X%, X, ... (D)1, 3,5, ...
Which of the following is in an A.P. ?

(A)2,5,7, ... (B) 2% 3% 7%, ...
(C) x, X%, X, ... (D)1, 3,5, ...
(1 + cot?0)(1 — cos?0) =

(A) sin’@ (B) tan’@

(C) cos®0 (D) 1

5x* — 4x + 2 = 0 &1 fafdaaas &

(A) 24 (B) —24

(C) 26 (D) —28

The discriminant of 5x° —4x + 2 =0 is

(A) 24 (B) —24

(C) 26 (D) —28

2x% - 4x + 3 =0 Hall B UGy w2 ?

(A) arifas =Tt (B) arifaes iR <\

(C) arfd® g SRIAM (D) s & ®ig el
What will be the nature of roots of 2x* - 4x + 3 =0 ?
(A) not real (B) real and equal

(C) real and unequal (D) none of these

6
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10.

11.

12.

13.

fforRad # & x* - 3x+2 =0 &1 U& 7o ® ?
(A) O (B) -1
(C)-2 (D) 2

Which of the following is a root of x> —3x+2 =0 ?

(A)0 (B) -1

(C)-2 (D) 2
FreifoRaa ¥ T owe T TR G § 7
(A) V3 x5 (B) V7 x 9
(C)V8 x+2 (D) V3 x V6
Which of the following is a product of rational number ?
(A) V3 x5 (B) V7 x 9
(C)V8 x+2 (D)3 x V6
fFrfeRad H BT 154 BT AT [OFETS & 7

(A) 2% x 7 x 11 (B)2x7 x 11%
(C) 2 x7 x 11 (D) 2° x 7 x 11

Which of the following is the prime factorization of 154 ?
(A)2%x 7 x 11 (B)2x7x11?
(C) 2 x7 x 11 (D) 2° x 7 x 11

frfaRad H o9 Tearig FHIER § 2
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(A)x+5=x+7 (B) (x +1)2=x*+4x+2
(C)x*+2x+1=0 (D)x*+5x+6=0
Which of the following is a linear equation ?
(A)Xx+5=x+7 (B) (x +1)*=x*+4x + 2
(C)x*+2x+1=0 (D)x*+5x+6=0
14, fr=faRed § 9 -1 fggd 9 § °?
(A) (x+1) (x-2) = (x-1)(x+5) (B)x*—2x= x*+ 1
(C) 2x* + 4x + 220 (D) X¥*=x-=
Which of the following:s a quadratic equation ?
(A) (x+1) (x-2) = (x-1)(x+5) (B)x*—2x= x*+ 1
1

(C)2x* +4x+2=0 (D) X¥*=x-=

X

15.  afe afiaRor 4x° — 3Kx + 1 =0 Hof aRM&R &, af K=

(A) £

wIlN

(B) -

(C) %= (D) +

W

If the equation 4x* — 3Kx + 1 = 0 has equal roots then K =

(A) £3 (B) %
(C) %3 (D) +3
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16. A &0 fgoma qgus & DI & ANHA 2 TG oA —15 7, Al 98 fgara

JgUS BRM
(A) x* +2x + 15 (B) x* +2x - 15
(C)x*—2x + 15 (D) x* —2x - 15

If the sum of the zeros of a quadratic polynomial is 2 and their product is
-15 then that quadratic polynomial is
(A) X* + 2x +.15 (B)x* +2x - 15
(C)x*—2x + 15 (D) x* —2x - 15
17. fy=faRaa & &9 w0 o 7 =81 2 ?
(A) 12, 16, 20, ... (B) 2%, 5%, 77 ...
(C) a, 3a, 5a, ... (D)3,5, 7, ...
Which of the following is notin an A.P. ?
(A) 12, 16, 20, ... (B) 2%, 5% 77 ...
(C) a, 3a, 5a, ... (D) 3,5, 7,4
18. W0 %0 V2, V8, V18, V32, .. FT AHE—3(R B
(A)V3 (B) V2
(C)2 (D)3
The common difference of the A. P. v/2, /8, /18, V32, .. is
(A)V3 (B) V2

(C)2 (D) 3
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19.

20.

21.

22.

Ife x +2,3x3AR 4x+1 90 H0 H & Ol X BT 919 2
(A) 2 (B) 4

(C)3 (D) 5

If x + 2, 3x and 4x + 1 are in A.P. then the value of x is
(A) 2 (B) 4

(C)3 (D)5
tan30°.sin302%.cot60°.cosec30° =

(A) - (B) -

(C)~ (D)1

0 10 : 10, 7, 4, .. BT 10af UG B

(A) -10 (B) -15
(C)-17 (D) -20

The 10" term of an A.P. : 10,7, 4, ...is

(A)-10 (B) -15

(C) -17 (D) -20

[0 10 1 2, 7, 12, .. BT DI AT US 47 © ?

(A) sdt (B) 1odf

(C) 124t (D) 144t

Which term of the A.P.:2,7,12, ... is47 ?
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23.

24.

25.

(A) 8" (B) 10™
(C) 12" (D) 14"
U2 10 favq UTehd ARSI &1 ANTHA ©

(A) 50 (B) 100
(C) 150 (D) 200
The sum of first 10 odd natural numbers is
(A) 50 (B) 100
(C) 150 (D) 200
e BT |0 2lo &1 ndl UG t,=2n + 5T t, =
(A)9 (B) 11
(C)13 (D) 15

If the n™ term of an A.P. be t, =2n +5then t, =

(A)9 (B) 11
(C)13 (D) 15
— : _ p(X)
p(x)—x5+1ﬁg(x)—x+1ﬁﬂwéﬁwﬁiﬁr’aﬁ%
(A)3 (B) 4
(C)5 (D) 2
On dividing p(x) = x° + 1 by g(x) = x + 1 then the degree of % is
(A)3 (B) 4
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26.

27.

28.

(C)5 (D) 2
i 9gU= p(x) BT U TYR-IDH —3 BI, d FIRad § DI p(X) B b [OAE0S
BT ?

(A) x + 3 (b) x - 3

(C)x++/3 (D) x-+/3

If one zero of the polynomial p(x) is -3 then which of the following will be a

factor of p(x)'?

(A)x+3 (b)x-3
(C)x ++/3 (D)x-+3
2Xx—5y =7 &1 (% 8 &

(A)x=-6,y=1 (B)x=3,y=1
(C)x=-1,y=1 (D)x=6,y=1

One solution of 2x — 5y =7 is

(A)x=-6,y =1 (B)x=3,y=1
(C)x=-1,y=1 (D)x=6,y=1
fFreforRad § @9 fag x =4 & 3elkg WR § 7

(A) (4, 0) (B) (4, 3)

(C) (4, 4) (D) 74 &1

Which of the following point lies on the graph of x =4 ?
(A) (4, 0) (B) (4, 3)

12
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29.

30.

(C) (4, 4) (D) all of these
[0 20 : 2, 6, 10, 14, .. B IV ayy — aqo BT 79 ©
(A) 50 (B) 40
(C) 20 (D) 10
The value of ayy — aig for A.P.: 2,6, 10, 14, ... is
(A) 50 (B) 40
(C) 20 (D) 10
FHIHRT 5x -15y= 8 T
3x— 9y =%, @ afTora YA A X €, o
(A) Fureh §
(B) wHIR &
(C) &R & =g WR yfees ol & |
(D) 377 & BIg el
The graph of the equations 5x -15y = 8 and

3x—9y = 2—54 are two lines which are

(A) coincident
(B) parallel
(C) intersecting each other at one point

(D) none of these

13
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31.

32.

33.

i &1 IS BSll @ &3hal &1 U 49 : 81 B, Al g1d \Id Yolall &l

SREICE
(A)9:7 (B)7:9
(C)7:8 (D)9:8

If the ratio of areas of two similar triangles is 49 : 81 then the ratio of their
corresponding sides is

(A)9:7 (B)7:9

(C)7:8 (D)9:8

& FH®Y Sl B GG YOS 4 : 5 & U H © S Sl & &bl Bl

3T ®
(A) 25 : 16 (B) 8: 25
(C)16: 25 (D)4 :5

The ratio of corresponding sides of two similar triangles is 4 : 5 then ratio of
their areas is

(A) 25 : 16 (B) 8: 25

(C) 16 : 25 (D)4:5

U IS @ [dB0T 24 T AR 32 WA T | SHD! UAP ol frefaiRad H
fed SRR ©

(A) 10 = (B) 20 =T

(C) 30 W (D) 35 ¥

14
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34.

35.

36.

The diagonals of a rhombus are 24 cm and 32 cm. its each side is equal to
which of the following ?

(A) 10 cm (B) 20 cm

(C)30cm (D) 35 cm

tan230° + cot’60° =

(A) - (B)=

(C)% (D) %

AABC @ ADEF #22 = 22 3 i fryet sy 21, af

(A) LA= D (B) LB=_~E

(C) £C= D (D) £B=_~F

If 2 = 2~ in AABC and ADEF both of these triangles will be similar if
(A) LA= D (B) LB=_E

(C) £C= D (D) £B = ~F

afs AABC~APQR iR &0 AABC : &0 APQR = 121%/169 d BC : QR &1 A1
g
(A) 121 : 169 (B) 15: 19
(C)11:13 (D) 13 : 11
If AABC~APQR and ar AABC : ar APQR = 121 : 169 then the value of BC :
QR is

15
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(A) 121 : 169 (B)15: 19
(C)11:13 (D) 13 : 11

37. sin’d + cos?f =
(A) 0 (B) 1
(C) -1 (D) 2

38. afd AABC~APQR, /B=47°, ~R=83°ar ~A=
(A) 50° (B) 60°
(C)70° (D) 80°
If AABC~APQR, ~B=47°, ~R=83° then /A=
(A) 50° (B) 60°
(C)70° (D) 80°

39. AABC~APQR 3R 2AB = PQ dorr BC = 8 ¥ df QR =
(A) 12 w1 (B) 14 3%
(C)16 I (D) 18
AABC~APQR and 2AB = PQ and BC = 8 cm then QR =
(A) 12 cm (B) 14 cm
(C)16 cm (D) 18 cm

40. AABC # AD1BC, AD = DC = 8 %I, BC = 14 ¥ di AB &7 A9
(A) 15 &+ (B) 16 A%
(C) 10 =i (D) 19 I

16
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41.

42.

In AABC, ADLBC, AD = DC =8 cm, BC = 14 cm then the value of AB is
(A) 15 cm (B) 16 cm

(C)10cm (D) 19 cm

el g1 @1 IR TS < | 9 FHT 1ffd 2| g9 @ B 7

(A) 1.1 5 (B) 2.1 ¥

(C) 25 & (D) 3.1 Y

The circumference of a circle exceeds its diameter by 9 cm. The radius of

the circle is
(A)1.1cm (B) 2.1 cm
(C)2.5cm (D) 3.1 cm

a1 gl & e FAmall Pl 3R 100 HAIL TAT S URERIT BT AR 20 T T | I
et &1 arT @

(A) 1o &0 (B) 207t Syl

(C) 10 &1 (D) 10v2 ¥t

The difference of areas of two circles is 100cm? and the difference of their

perimeters is 20 cm. The sum of their radii is

(A) 10 cm (B) 20 cm

(C) 10 cm (D) 1072 cm

17
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43.

44.

45.

afg fag (5, P) T (2,0) % d/a &1 0 5 &, I P T_IeR &

(A) £3 (B) +4

(C) £5 (D) £6

If the distance between the points (5, P) and (2, 0) is 5, then P is equal to
(A) £3 (B) +4

(C) £5 (D) £6

31 gl & SEmel BT AU 36 : 49 &, DI AT BT AU @

(A)6:8 (B)6:7

(C)7:6 (D)8:7

The areas of two circles are in the ratio 36 : 49. The ratio of their radii is
(A)6:8 (B)6:7

(C)7:6 (D)8 :7

7 9 g 9l Th g @ g P ¥ 24 W o et Y@ PT @R 9l 7
Jfe O g &1 &= 2 d OT &I &drs

(A) 20 & (B) 25 I

(C) 30 ¥ (D) 35 ¥

In a circle of radius 7 cm, tangent PT is drawn from a point P such that PT=

24 cm. If O is the centre of the circle, then length of OT is

18
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46.

47.

48.

(A)20 cm (B) 25 cm
(C)30cm (D) 35 cm
&1 gl BT FATsl &7 Ui 2 : 3 8 Al S99 &Fhell Bl JUd o

(A)2:3 (B)4:9

(C)3:2 (D)9:4

The ratio of the radii of two circles is 2 : 3 then the ratio of their areas is
(A)2:3 (B)4:9

(C)3:2 (D)9:4

Sin52° — Cos38° =

(A)O (B) 1

(C) -1 (D)

fPdl 90 & &= ¥ 13 ¥ ) Roya forg P ¥ I 15 el X@r & dqrg 12
9 7, @ ga & B ©

(A) 6 I (B) 12 &+

(C) 5 & (D) 13

The length of a tangent from a point P at a distance 13 cm from the centre
of a circle is 12 cm, then the radius of the circle is

(A) 6 cm (B) 12 cm

(C)5cm (D) 13 cm

19
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49. UH °S oI AFC B G 14 T Fdl 2 39D gRI 15 MAie d T &9%d &
(A) 144 5 (B) 154 37
(C) 164 JH? (D) 140 JH?

The minute needle of a watch is 14 cm long. The area covered by it in 15

minutes is
(A) 144 cm? (B) 154 cm?
(C) 164 cm? (D) 140 cm?

50. Sec®30°-tan®30° =
(A)O (B) 1
(C) -1 (D)2
51. APQR % QR @7 S fag @@ demm 1 ¥ R £PRS = 150° e ZPQR =
80°ar ZQPR &1 A &
(A) 50° (B) 70°
(C) 80° (D) 150°
In APQR, side QR is extended up to a point S such'that Z/PRS = 150° and
/PQR = 80°, then the value of ZQPR is
(A) 50° (B) 70°

(C) 80° (D) 150°

52. rfFar aret g9 & faw 6 ®197 arel @S & @1 & T IS ©

20
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53.

o4.

(A) = x 111 (B) = x 27r

360 360

(C) % X TIr (D) % x 27r?

For a circle of radius r the length of an arc of a sector of angle 6 is

) )
(A) 5= % mr? (B) 5= x 2r
(C) = x r (D) = x 271 -

360 360 fere i oie 3ie qera siifsfaae

Y AU, ATee QUe, shiere-&i,
afe A = 45° A1 sinA + cosA + tanA &T 919 © UISIha, Siied, i eT, de- 3 site
e udte wsa U4 3nfe & f3e...

(A) V2 (B) V2 +1 ( BihurboardQuestionpaperﬂnD
()2 (D)2+Z '

If A = 45° then the value of sinA + cosA + tanA is

(A) V2 (B) V2 + 1
()2 (D) 242

gfe foddl g7 @1 Broar gar ox fQar S an AU-ge 3R QR g1 & &=hell Bl

ST &
(A)1:2 (B)1:4
(C)a :1 (D)2 :1

If the radius of a circle is doubled then the ratio of the areas of the new
circle and the old circle is
(A)1:2 (B)1:4

21
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95.

56.

S7.

(C)a :1 (D)2 :1

&1 gl Bl URMERT &1 U 2 : 3 8 Al I &hall Bl IJUd o
(A)4:9 (B)2:3
(C)3:2 (D)9:4

The circumferences of two circles are in the ratio 2 : 3 then the ratio of their

areas is
(A)4:9 B)2:3
(C)3:2 (D)9: 4

9sec?A — 9tan?A =
(A)3 (B)9

(C)

Nl e

(D)0

IS U g @1 IR 21 ¥ 9GhR 87 &I Wil @ Al SABI AT &FABeA BT

(A) TR T (B) a3 T+
(C) Wrefe T (D) §7 & Pl

If the circumference of a circle increases from 2 to 8 then its new area

will be
(A) four times (B) eight times
(C) sixteen times (D) none of these

22
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58.

59.

60.

frell et & oY fogell & e @4, 7) (0, 5) 3R (6, 3) T SHd B=D
[RENIER

(A) (3, 4) (B) (3, 95)

(C) (5, 3) (D) (4, 7)

The co-ordinates of the vertices of a triangle are (4, 7) (0, 5) and (5, 3).
The co-ordinates of its centroid are

(A) (3, 4) (B) (3, 95)

(C) (5, 3) (D) (4, 7)

fag (—1, —2) fg ura H Rerg g ?

(A) T2 (B) fe<ira

(C) i (D) =g

In which quadrant is the point (-1, -2) situated ?

(A) first (B) second

(C) third (D) fourth

e bl WIrgUs & U BR @ fFewnad (4, —5) IR A7&Y fd=g (0, 0) &, aI T
BR & fdwna 2

(A) (-4, -5) (B) (-4, 5)

(C) (4, 5) (D) (5. 4)

If the co-ordinates of one end of a line segment are (4, -5) and its middle

point is (0, 0) then the co-ordinates of the other end are

23
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61.

62.

63.

(A) (-4, -5) (B) (-4, 95)
(C) (4,5) (D) (5, 4)
afe A = 30° @2 B = 60° @1 sinA.cosB + cosA.sinB &1 |19 &

(A) -1 (B) 1

(C)

|G

(D)

N |-

If A = 30° and B = 60° then the value of sinA.cosB + cosA.sinB is

(A) -1 (B) 1
()2 (D)2

afe 0(0,0) 9t g &1 IRfg P & fAdwrias (-3, —4) &1 a1 & OP &

(A) 3 gpTSAl (B) 4 spreal

(C) 5 goredrs (D) 2 srsAl

If 0(0,0) be the origin and the co-ordinates of point P be (-3, -4) then the
distance OP is

(A) 3 units (B) 4 units

(C) 5 units (D) 2 units

x—31e IR fHAl fog @& Faena &1 w9 8ar ©

(A) (x, 0) (B) (0, x)

(C) (0.y) (D) &4 & @IS Tl

A point on x-axis has co-ordinates of the form

24
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(A) (x, 0) (B) (0, x)
(C) (o, y) (D) none of these
64. fa=g (10sin60°, 0) &fk (0, 10sin30°) & &= &1 I &
(A) 6 TSl (B) 8 gapredl
(C) 10 gtz (D) 12 gareaf
The distance between the points (10sin60°, 0) and (0, 10sin30°) is
(A) 6 units (B) 8 units
(C) 10 units (D) 12 units
65. afe fa=g¥ (0, 0), (1, 2)= (x, y) W 8, dl
(A)x=y (B)2x =y
(C)x =2y (D) 2x = -y

If the points (0, 0), (1, 2) and (x, y) are collinear then

(A)x=y (B)2x =y
(C) x =2y (D) 2x = -y
66. A(0, 1), B(0, 5) a2 C(3, 4) A &1 Bryal &7 &=het ®
(A) 16 T gBTS (B) 8 a7 gHIS
(C) 6 a7 g1g (D) 4 o gbTE
The area of the triangle formed by A(0, 1), B(0, 5) and C(3, 4) is
(A) 16 sq unit (B) 8 sq unit
(C)6 sq unit (D) 4 sq unit
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67.

68.

69.

fFrefeiad # fped &M fdeof sReR 81d € ?

(A) e (B) FHITR AT

(C) s (D) 54 ¥ I &
In which of the following both the diagonals are equal ?
(A) rhombus (B) parallelogram
(C) rectangle (D) none of these

2x + 4y = 103X + By = 12 gRT F6fud wa o grfl ?

(A) gferesdl (B) ureit

(D) iR (D) 57 ¥ P13 T

The lines represented by 2x + 4y = 10, 3x + 6y = 12 are of which type?
(A) intersecting (B) coincident

(C) parallel (D) none of these

gfe & & & Yo fdepol ol <farg 8v3 W &, I 3D UAD (R 8
(A) 8V3 w#I (B) 8 ¥

(C) 4v/3 &+ (D) V3 &0

If the length of a diagonal of a cube is 8v/3 cm then its each edge is
(A) 83 cm (B) 8 cm

(C) 4v3 cm (D) V3 cm
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70.

71.

72.

U T BT JO—&=hel 96 THI' & Tl TADT GAD BRI B
(A) 4 5 (B) 5 ¥
(C) 6 3 (D) 16 ¥

The surface area of a cube is 96cm? then its each edge is

(A) 4 cm (B) 5 cm
(C)6 cm (D) 16 cm
Tl & TR eThd BT 8

(A) 27r? (B) 3ur?
(C) 4nr? (D) r?

The surface area of a sphere is
(A) 27r? (B) 3mr?

(C) 4nr? (D) r?

& STl & JATITA! BT AU 27 : 64 & oI 7D dh UB & &Fhall Bl AU
g

(A)2:3 (B)9 : 16

(C)16 : 9 (D)3 :2

The ratio of volumes of two hemisphere is 27 : 64 then the ratio of their
curved surface areas is

(A)2:3 (B)9 : 16

(C)16 : 9 (D)3 :2
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73.

74.

75.

&1 Jol @I FSamsil &1 U 3 ¢ 2 3R @] SHarsdl & AU 5 - 7§, al

SECACIDREIRCA NG CI NI

(A) 28 : 45 (B) 45 : 28

(C)15:14 (D) 14 : 15

The radii of two cylinders are in the ratio 3 : 2 and their heights are in the
ratio 5 : 7 then the ratio of their volumes is

(A) 28 : 45 (B) 45 : 28

(C)15:14 (D) 14 : 15

sin6(1 + cot’9) =

(A) cos®0 (B) sec?d

(&) (D)0
e fhefl ol § Sarg h = 12 Hio IR a1 r = 5 Mo & a1 e a8 [ o

A4
(A) 11 #0 (B) 12 #o
(C) 13 10 (D) 14 0

If in any cone height h = 12 m and radius r = 5 m then the value of slant

height [ is
(A)11m (B) 12 m
(C)13m (D) 14 m
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76.

77.

78.

e Sigaeii 99 & SR &7 &F%el A ma’ W &1 3R $a1s b 9+ &1, ar

TS qh U Pl &THA ©
(A) 2ma ® | (B) 2mab Y
(C) 2ra®b Y (D) 574 A BIg &l

If the area of a base of a right circular cylinder be ma® cm? and height is b

cm then the area of its curved surface is
(A) 2ma® cm? (B) 2mab cm?
(C) 2ma’b cm? (D) none of these

afe xtand5° x cos60%=sin60° x cot60° dr x aRTeN &
(A)3 (B);

1
(C) 1 (D) %
If xtan45° x cos60° = sin60° x cot60° then x is equal to

(A)V3 (B) -

(C) 1 (D) %

afe cot3x = sind5°.cos45° + cos60° a1 x T 719 &

(A) 30° (B) 45°

(C)15° (D) 20°

If cot3x = sin45°.cos45° + cos60° then the value of x is
(A) 30° (B) 45°
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(C)15° (D) 20°
79. afe cosh + sechd = 4 A cos’h + sec’d &1 79 &
(A) 12 (B) 13
(C) 14 (D) 16
If cos@ + sech = 4 then the value of cos®d + sec’d is
(A) 12 (B) 13
(C) 14 (D) 16
80. I secA + tanA'= 2a 3R secA—tanA=bdl ab &1 91 7
(A) 1 (B) -1

(C)

N |-

1
(D)
If secA + tanA = 2a and secA —tanA = b then the value of ab is

(A)1 (B) -1

(C)~ (D)~
81. sec60’=

(A) 1 (B) 2

©); (D)0

82. 3gfe A+ B =90°dl cotA a_IeR 2
(A) sinB (B) cosB

(C) tanB (D) secB
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83.

84.

85.

If A + B = 90° then cotA is equal to
(A) sinB (B) cosB
(C) tanB (D) secB
afe cosf = % ar cosecl TR &
(A) = (B) =
(€)= (D)
If cosO = % then cosect is equal to
(A) = (B) <
(€)= (D)
Ife 4tand = 3 @ cos’d + sin’0 &1 A B
(A) -1 (B) 1
(C)2 (D)~
If 4tan6 = 3 then the value of cos + sind is
(A) -1 (B) 1
(C)2 (D)~
cot’d(sechd — 1) (sech + 1) = x AT X BT A &
(A) -1 (B) 1
(C)2 (D) -2
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86.

87.

cot’d(sechd — 1) (sech + 1) = x then the value of x is

(A) -1 (B) 1

(C)2 (D) -2

el AMR & =18 35 W0 | 5 I BT I BT 45° &I, AT AR DI BRI
CARSEIERSLIE R CO I I

(A) 30 o (B) 35v3 #io

(C) 35 #o (D) 30v/3 #io

The height of a tower is 35 m. when the angle of elevation of the sun is 45°,
what will be the length’of the tower’s shadow on the ground ?

(A)30m (B) 35v3 m

(C)35m (D) 30v3 m

af Rl SR i o S S R S W @) ORI A ol A = T

gl gd BT ST BT BT
(A) 30° (B) 45°

(C) 60° (D) 75°

If the height of a vertical pole is % times the length of its shadow on the

ground then the angle of elevation of the sun is
(A) 30° (B) 45°

(C) 60° (D) 75°
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88. (cosech — sind) (sechH — cosh) (tand + coth) =

(A) 0 (B) 1
(C) -1 (D) 2
89. 20w

(A)1 (B) -1
(C) 2 (D) -2
The value of 22 s

(A)1 (B) -1
(C) 2 (D) -2

90. 3fe sin50° + cos40° = 2sinA I A &T A9 8
(A) 40° (B) 50°
(C) 90° (D) 30°
If sin50° + cos40° = 2sinA then the value of A is
(A) 40° (B) 50°
(C) 90° (D) 30°

1. 3%249:%?1# secH &1 d9 BRI

(A % (B) V2
()2 (D)2
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If 20 = % then the value of secd will be

(A) (B) V2
©)2 (D)2

sin?23%+ sin%67° ) )
92. + sin?59° + c0s59°.sin31° =
052139+ cos2770

(A)3 (B) 2
(C) 1 (D) 0
93. TP 9Y ¥ UH AEI IGTdT AT Sl & | 9@ el AT ST &M &I UTiIdhdn

(A) ; (B) <

(C)

N |-

(D)=

A month is selected at random in a year. The probability of it being April or

June is
(A); (B) <
(C) (D)=

94. UH U DI Bd H G 4 IT 5 3 DI WIRIHaAT 8
(A) 5 (B):

(C)

Wl

(D)=
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The probability of getting a number 4 or 5 in throwing a die is
(A) 5 (B) <
(C); (D)=

95. TP U bl Bhbd UR 3(h 6 el 3 &I UIfisdpdr g

(A) £ (B):

(©)5 (D) T 1 P T
In throwing a die; the probability of not getting 6 is
(A) < (B) 2

(C) % (D) none of these

96. TR RYddhi &I BT | YT TRUMHT BT AT &

(A) 4 (B)2*

(C)4° (D) s A F1E T
The number of possible outcomes in tossing four-cains is
(A) 4 (B) 2*

(C) 4° (D) none of these

97. % UM @ Udh Bd H 3 3R 6 & 9 &1 i Ui 89 @l Wifdhelr @
(A)O (B) -
(C)5 (D) 1
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The probability of getting a digit between 3 and 6 in throwing a die once is
(A)O (B) -
(C)5 (D) 1
98. 4,5,6,7,7,5,4,5® 9gaIh 1 © ?
(A) 4 (B)5
(C)6 (D)7
What is the mode of 4, 5,6, 7,7,5,4,5 7
(A) 4 (B)5
(C)6 (D)7
99. 18, 13, 17, 12, 16, 19 HI AIADI &
(A) 15 (B) 16
(C) 16.5 (D) 17
The median of 18, 13, 17, 12, 16, 19 is
(A) 15 (B) 16
(C)16.5 (D) 17
100. I 1,4, x, 5,y BT ART 7 & A X IR y H HaT
(A)x+y= 15 B)yx+y=20
(C)x+y=25 (D)x—-y=25

If the mean of 1, 4, x, 5, y is 7 then the relation between x and y is
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(A)x+y= 15 (B)yx+y=20
(C)x+y=25 (D)x—y=25
wug—g / SECTION-B

g SR ue / Short Answer Type Questions

U3 T 1 ¥ 30 Tb oY ITNIG YA €| 399 A el 15 YT B SR ° | YD YA
@ forg 2 3fa MeiRa 2| 15x2=30
Question Nos. 1.to 30 are Short Answer Type Questions. Answer any 15

questions. Each question carries 2 marks. 15x2=30

1. fgord 9gue 2x° — 8x-+ 6 & DI BT ANT UG I[OHS T P | 2

Find the sum and product of the zeros of the quadratic polynomial
2x° — 8x + 6.

2. faona 9gug 4x° - 3@ TS G BN 2
Find the zeros of the quadratic polynomial 4x* — 3.

3. IR 3x+ay=13Rbx—2y=3F 8 x=1y=27 a a AR b &1 A
EIGECad 2
If the solution of 3x + ay =1 and bx — 2y = 3 is x = 1, y = 2 then find the
values of a and b.

4. AX°+5X+2 B X+ 3 W U < | 2
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10.

Divide 4x* + 5x + 2 by x + 3.
Jfaere U TRTINGH &1 UANT &R 135 3R 225 BT H0 [0 AT HY| 2

Using Euclid’s division algorithm find the H.C.F. of 135 and 225.

e wefie=er 3y — 2y + ~ = 0 & faa® w9 IR TI qE B IHRY T 2
Find the discriminant of the quadratic equation 3y? — 2y + § = 0 and find

the nature of roots.

24+ 74+ 12% .+ 122 BT ATH SITd DY | 2

Findthe sumof2+7 +12+ ... + 122.

. sin*0 — cos*6
g o b =1 . 2

sin20 — cos26

sin*6 — cos*6
Prove that = 1\
ove tha sin20 — cos20

AABC % DEIIBC, AD = 1.5 ¥+, DB = 3 &I, AE = 1 39 & dI EC @&

A ST BN | 2

In AABC DEIIBC, AD = 1.5 cm, DB = 3 cm,”AE = 1 cm then find the

value of EC.
T st ABC @1 4ol BC W Us fa=g D 39 YR Red g f& ZADC =

/BAC 2, frg &~ fo CA? = CB.CD. 2
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11.

12.

13.

14.

D is a point on the side BC of a triangle ABC such that Z/ADC = ZBAC,

Prove that CA% = CB.CD.

eﬂjtﬂ?ﬁﬂ,%wcl @ G IR ST B (& e 3@ afierer dd 2

a; g
T I - 2
x+2y+3=0,3x+6y+9=0.

By comparing the ratios =2, % and = find out whether the following pair
2 2 2

of equations are consistent or inconsistent :
Xx+2y+3=0,3x+6y+9=0.

el g &1 B (2, <3),& IR IHd A AB &1 Ud BR B(1,4) 8 AT A &
frdere vd g @1 FFroar e @y | 2
The centre of a circle is (2, -3) and one end of its diameter AB is B(1, 4).
Find the coordinates of A and the radius of the circle.

st &1 eAwa S B e il & fAdena (3, 4) (—4, 3) IR (8, 6) T 2
Find the area of the triangle, the co-ordianates of whose vertices are

(3, 4), (-4, 3) and (8, 6).

fa=gatl (4, 6) 3R (2, 4) I AT YIETS & FqI—fd=g D X 95 (8,6)
GEEIREEY 2
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15.

16.

17.

18.

19.

20.

21.

Find the distance of the mid-point of the line segment joining the points
(4, 6) and (2, 4) from the point (8, 6).
8 Wl Bram ardl UH o/ Wil | 1 WA Brar arell fha 3N TTeTdR

Mferdt a918 ST Faell & °? 2
How many spherical solid bullets each of radius 1 cm can be made from

a solid sphere of radius 8 cm ?

U JAGIDR W DI IRMAT Feprel afs sHadT g 24 | 811 2

Find the perimeter of a semi circular field if its diameter is 24 cm.

U g &I IR 30.8. 3! B, IHDT &ABA A DN | 2

The circumference of a circle is 30.8 cm find its area.

Rig o¥ fr 3250 _ ane. 2

2c0s360— cosf

in® — 2sin36
Prove that =———"— = tané.
2cos30— cosf

. cotf cotfd —1
g = o 1+tan 2 —sec26’ 2
Prove that —2t0_ — <ot _21.
1+tan 2 —sec40
Rig &% 5 (1 +sing) (1 -sind) = —. 2
Prove that (1 + sin@) (1 — sing) = —
g N 3x +4y =10, 2x- 2y = 2. 2

Solve 3x + 4y = 10, 2x- 2y = 2.
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22.

23.

24.

25.

26.

27.

y-3187 R & Q4T fIg Ad o ST 950 (2, 3) 3R (—4, 1) ¥ FHGKT BT | 2
Find a point on the y-axis which is equidistant from the points (2, 3) and
(-4, 1).

Rig & % g 2, —2), (-3, 8) 3R (—1, 4) T £ | 2
Prove that the points (2, -2), (-3, 8) and (-1, 4) are collinear.

8.4 I o arel g9 @1 R Ud &F%md S1d AN | 2

Find the circumference and area of a circle with radius 8.4 cm.

3o 4 FH1 drel T 9 @ BoI@ue BT &A% A B THDHI DI BT

30° B | 2

Find the area of the sector of a circle with radius 4 cm and of central
angle 30°.

APQR &1 4&¥ PR 3R QR WX $He: fag S 3R T fogU 39 UaR ¢ &b
/P = /RTS f&g # f& ARPQ~ARTS. 2

S and T are points on sides PR and QR respectively of APQR such that
/P = ZRTS prove that ARPQ~ARTS.

3 WeY el @ eEwd 121 W QIR 64 I T AR uRd By @
AIEIDT 12.1 WA 8, A1 TN ST &1 |I1d AfegHT A1 B | 2
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28.

29.

30.

The areas of two similar triangle are 121 cm? and 64 cm?. If the median
of first triangle is 12.1 cm, find the corresponding median of the other
triangle.

A 30, 35, 20, 15 IR X BT AR A 24 & Al X BT A9 A B | 2

If the arithmetic mean of 30, 35, 20, 15 and x is 24 then find the value of

X.

Q1 3Dl D), =T H TS BT 3D SHE & b B (AT 2| I 39 dw=r §
H 54 BT & ANSUD 3P I8l SIRAT | §9 HA & AHIGRT (ol | 2

In a two digit number, the ten’s digit is three times of unit’s digit. When
the number is decreased by 54, the digit are reversed. Write the
equations for these statements.

AHIHROT HRT 3x — 5y = 4 UF 9x — 2y = 7 Bl JoioA O &1 gt HY | 2
Solve the system of equations 3x — 5y = 4 and 9x — 2y = 7 by cross
multiplication method.

<ref S99 ¥ / Long Answer Type Questions.

U3 AR 31 W 38 I SR U 2| 58 W bl 4 YTl b SR | UAb U b
forg 5 3fe fRuifRd 21 4x5=20

Question Nos 31 to 38 are Long Answer Type Questions. Answer any 4

questions. Each question carries 5 marks. 4x5=20
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31.

32.

33.

34.

R AHHRT g X — 4y + 14 = 0 TAT 3x + 2y - 14 = 0 BT 3fTeld WA 3R
A DN | 5
Draw the graphs of the pair of linear equations x —4y + 14 = 0 and 3x +
2y - 14 = 0 and solve them.

3mad ABCD & 3fex Rerd O @IS fa=g 2 a1 Rig o & 5
OB’ + OD? = OA® + OC?.

Inside a rectangle ABCD, O is any point then Prove that

OB? + OD* =/0A* + OC?.

TP HAex die, el Rer ST d a1 18 fdhoHo /der §, 24 fhoHo oRT &
Ui ST H, 981 S GRT & Idd dic &I 3T 1 ©el Ifd ol 7|
gRT B ATl ST DN | 5

A motot boat whose speed is 18 km/h in still water takes 1 hour more to
go 24 km up stream than to return down stream to the same spot. Find

the speed of the stream.

U MR & UIG | ok dlell Wl @l OR 9Ie | $hAer g Hier a1 b Hier
@ AT R Rerd a7 gl ¥ AMR & ReR & I=199 BV U N & IR
2| g o & IR 91 9 Vab #ie? 7| 5

The angles of elevation of the top of a tower from two points on the

ground at distances a metres and b metres from the base of the tower
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35.

36.

37.

and in the same straight line are complementary. Prove that the height
of the tower is Vab metres.

T FHBIUT ST ABC eifdhd &) i AB = 8 941, BC = 6 W1 T /B =
90°, B¥ AC W @ BD & e D 8| ABCD & uRgd @i | 5

Draw a right angled triangle ABC in which AB = 8cm, BC =6 cm and /B

= 90° D is the foot of perpendicular BD from B on AC. Draw circum

circle of ABCD.
. tan@ cotf

Rig ™ & + =1 + secH.cosech. 5
1-cot 1-tan@
tan@ to

Prove that 7+ 2 =1+ sech.cosech.
1-cot@ 1-tané

fFrIfeRaa acq &1 95 o oY 5

EIIED 0—10 | 10—20 | 20—30 | 30—40 | 40—50 | 50—60 | 60—70 | 70—80

NER] 25 40 60 75 95 130 195 245

Find the mode of following distribution :

Marks 0—10 10—20 | 20—30 | 30—40 | 40—50 | 50—60 60—70 70—80
obtained
Cumulative 25 40 60 75 95 130 195 245
frequency
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38. O I AER ¥ I R R ¥ Gl U dcid U & b D B ATHR DI
g Rradl =18 16 T 8 dor et &R S RRI &1 g was: 8 1l
3R 20 T 8 W0 50 UM ofiex &1 &R A 9 Fa9 Bl YRI 9+ dlel g9 BT e
S B | (T = 3.14)
A container opened from the top and made up of a metal sheet is in the

form of a frustum of a cone of height 16 cm with radii of its lower and

upper ends.as 8 cm and 20 cm respectively. Find the cost of the milk
which can completely fill the container, at the rate of Rs. 50 per litre. (T

= 3.14)

fdgre s e site yere sifbfaas
YT que, ATes Uue, 3fide-Hl,

UTSashd, sied, HAld eee, dAe-317 3T

UfR e udteln uss u7 3fe & f3e...
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